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I 22 M. O - NRAY - BHY rSREL=pIEL & o mE=S1
FUNHSSA Al € ELZAEY 15,000
Mug E2AY XE 5,000
308 AHXIEHHI SOl & 397,347 419,400 22,053
02 F=+uR=3 397,347 419,400 22,053
7.7 W23(1604) 377,400
AZSS0SAIEA (XI5 ==E 20 AH) 42,000
IMZCIAIE HE SIALS 6,000,000 6,000,000 0
501 it= 6,000,000 6,000,000 0
01 eIt it=a 6,000,000 6,000,000 0
HLLASHE2IEZHEL L X 1,000,000
500,000,000& *2J4 A
ABHEIIEEA 84 100,000, 000& *5IH 2 500,000
AZZHMUAL A 50,000,000 *75J4 2 3,750,000
SEAMNE Xt 15,000, 000& *507H & 750,000
HREsS(EHAA4D) 5,324,386 5,148,415 A175,971
HWRAHHX S (MBI EIIS) 5,324,386 5,148,415 A175,971
LHEHHK = 5,324,386 5,148,415 A175,971
602 Ol Xl= 5,274,386 5,098,415 A175,971




I 22 FHM . O9 - NRAY - HYS rSREL=pIEL pNEL fImE=ET
5,274,386 5,098,415 A175,971
5,008,415
50,000 50,000 0
50,000 50,000 0
50,000
A= g A 12,266, 148 12,143,005 A 123,143




